#### Proposed NU Business Name: ARIF TELECOM



Project identification and prepared by: Md Shahjamal Siraji Puthiya Unit, Rajshahi

Project verified by: Md Abdul Mannan Talukdar



Brief Bio of The Proposed Nobin Udyokta			
Name	:	MD ARIFUL	
Age	:	01-01-1996 (20 Years)	
Education, till to date	:	BSS (Ongoing)	
Marital status	:	Married	
Children	:	01 Son	
No. of siblings:	:	01 Brother, 03 Sisters	
Address	:	Vill: Kandra Jhulonpara, P.O: Puthiya, P.S: Puthiya , Dist: Rajshahi	
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info	: : :	Mother Father  MST HALIMA BEGUM  MD ANARUL ISLAM SHEIKH  Branch: Nimpara, Charghat, Centre # 13 (Male),  Member ID: 4078, Group No: 04  Member since: 2006 (10 Years)  First loan: BDT 10000/-	
Further Information: (v) Who pays GB loan installment (vi) Mobile lady (vii) Grameen Education Loan (viii) Any other loan like GB, BRAC ASA etc	: : :	Existing loan: BDT 20000/- Outstanding loan: BDT 15160/- Father No No No	

### BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)		Nil
Business Experiences and	••	06 years experience in running business. 05 Years in own business.
Training Info	:	He has no training
Other Own/Family Sources of Income	:	Yes
Other Own/Family Sources of Liabilities	:	None
Entrepreneur Contact No.	:	01788-814380
Mother's Contact No.	:	01955-054655
NU Project Source/Reference	:	Grameen Shakti Samajik Byabosha Ltd. Puthiya Unit, Rajshah

#### BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

**MST HALIMA BEGUMM** joined Grameen Bank since 10 years ago. At first she took 10000 taka loan from Grameen Bank. She gradually took loan from GB. Utilize loan in house repair.

Proposed Nobin Udyokta Business Info			
Business Name	:	ARIF TELECOM	
Location	:	Kandra Madrsa Mor, Puthiya, Rajshahi.	
Total Investment in BDT	:	BDT 100,000/-	
Financing	:	Self BDT 50,000 (from existing business) 50% Required Investment BDT 50,000 (as equity) 50%	
Present salary/drawings from business (estimates)	:	BDT 5,000	
Proposed Salary	:	BDT 5,000	
Size of shop	:	14 ft x 08 ft = 112 square ft	
Implementation	•	<ul> <li>The business is planned to be scaled up by investment in existing goods like; Soft drinks, Battery, Charger, Headphone, Bulb, Electric items, Computer etc. Mobile Servicing.</li> <li>20% gain on sales</li> <li>The shop is Rented.</li> <li>The business is being operated by entrepreneur. Existing no employee.</li> <li>One will be appointed after receiving equity money.</li> <li>Collects goods from Baneswor &amp; Puthiya</li> <li>Agreed grace period is 3 months.</li> </ul>	

## **Existing Business (BDT)**

Particular	Daily	Monthly	Yearly
Revenue(Sales)			
Soft drinks, Battery, Charger, Headphone, Bulb, Electric items	1000	30000	360000
Mobile servicing	300	9000	108000
Total Sales (A)	1300	39000	468000
Less Variable Expense			
Soft drinks, Battery, Charger, Headphone, Bulb, Electric items	800	24000	288000
Total variable Expense (B)	800	24000	288000
Contribution Margin (CM) [C=(A-B)	500	15000	180000
Less Variable Expense			
Rent		500	6000
Electricity bill		500	6000
Transportation		300	3600
Salary (self)		5000	60000
Entertainment		300	3600
Bank charge		100	1200
Guard		150	1800
Generetor		100	1200
Mobile bill		200	2400
Total fixed cost (D)		7,150	85800
Net Profit (E)= [C-D]		7,850	94200

Investment	Kraa	kdown
HIVESUICIL		KUUVVII

Existing					Proposed			
Particulars	Qty.	Unit Price	Amount	Qty	Qty Unit Price Amount Propose		Proposed	
			(BDT)			(BDT)	Total	
Soft Drinks	30	400	12,000	0	0	0	12,000	
Battery	20	120	2,400	0	0	0	2,400	
Charger	20	70	1,400	0	0	0	1,400	
Headphone	50	30	1,500	0	0	0	1,500	
Mobile	5	246	1,230	0	0	0	1,230	
Bulb	1	8000	8,000	0	0	0	8,000	
Electric Items	1	3470	3,470	1	50000	50,000	53,470	
Computer	1	10000	10,000	0	0	0	10,000	
Security	1	10000	10,000			0	10,000	
	129	0	50,000	1	0	50,000	100,000	

#### **Source of Finance**



<b>Financia</b>	<b>Projection</b>	(BDT)
-----------------	-------------------	-------

i ilialiciai r roje	dd) IIoii)s	• /		
Paticular	Daily	Monthly	Year1	Year 2
Revenue(Sales)				
Soft drinks, Battery, Charger, Headphone Electric items	2200	66000	792000	831600
Mobile servicing	300	9000	108000	113400
Total Sales (A)	2500	75000	900000	945000
Less Variable Expense				
Soft drinks, Battery, Charger, Headphone Electric items	1760	52800	633600	665280
Total variable Expense (B)	1,760	52800	633600	665280
Contribution Margin (CM) [C=(A-B)	740	22200	266400	279720
Rent		500	6000	6000
Electricity bill		500	6000	6,400
Transportation		300	3600	4000
Salary (self)		5000	60,000	60000
Entertainment		300	3600	3600
Bank charge		100	1200	1200
Guard		150	1800	1800
Generetor		100	1200	1200
Mobile bill		200	2400	2400
Mobile bill		400	4800	5000
Total fixed cost (D)		7,550	80,400	81,400
Net Profit (E)= [C-D]		14650	175800	198,320
Investment Payback			30,000	30,000

# Cash flow projection on business plan (rec. & Pay)

SR#	Particulars	Year 1 (BDT)	Year 2 (BDT)
1	Cash Inflow		
1.1	Investment Infusion by Investor	50,000	
1.2	Net Profit	175,800	198,320
1.3	Depreciation (Non cash item)		
1.4	Opening Balance of Cash Surplus		145,800
	Total Cash Inflow	225800	344120
2	Cash Outflow		
2.1	Purchase of Product	50,000	
2.2	Payment of GB Loan		
2.3	Investment Pay Back (Including Ownership Tr. Fee)	30000	30000
	Total Cash Outflow	80,000	30000
3	Net Cash Surplus	145,800	314120

## **SWOT ANALYSIS**

# Strength

Employment: Self: 01 Family:0

Others:0Experience & Skill: 06 Years

Quality goods & services;

Skill and experience;

# WEAKNESS

Lack of Capital/Investment

# **O**PPORTUNITIES

Huge demand in the community

Location of shop; Regular customers;

## THREATS

Theft

Fire

Political unrest

# Pictures











वाः थात्राक्र Course of the court of the forms of

510 M8

## জাতীর পরিচিত্তি বিবরণ



#### দোকান ভাড়া চুক্তি ও অঙ্গী

১ম পঞ্চ দোকান ঘর ভাড়া দাতা ঃ মোঃ তাজুল ইসলাম, পিতা-মৃত পোষ্ট-+থানা-পৃঠিয়া, জেলা-রাজশাহী।

২য় পক্ষ দোকান ঘর ডাড়া হহিতা ঃ মোঃ আরিফুল ইসলাম, পিতা পোষ্ট-+ধানা-পৃতিয়া, জেলা-রাজশাহী।

আমি এই মর্মে নিম্নে উক্তেবিত শর্ত মোতাবেক আপনার নিং নিজ নামীয় ৩য় নোকান ঘর যাহার নৈর্ঘা ১৪ (চৌন ফুট) প্রস্থ ৮ (আ (দশ হাজার) টাকা মাত্র। মাসিক ভাড়া ৫০০/- (পাঁচশত) টা ০১/০৩/২০১৪ ইং হইতে ০১/০৪/২০২০ইং তারিব পর্যন্ত উক্ত দো এতদশর্তে উল্লেখ্য যে, তিন বছরের মধ্যে কোন প্রকার ভাড়া পরিষ্ঠ ১। প্রতি মাসের ভাড়া পরবর্তি মাসের ৫(পাঁচ) তারিবের মধ্যে পরি ঘর মাড়িয়া দিতে চাইলে দোকান ঘর মালিককে ও তিন

नाम भाः आतिकृत

Name MD. ARIFUL পিতা

भाः यानाबन्त इंग्लाम एग्थ মাভা মোছাঃ হালিমা বেগম

Date of Birth 01-01-1996

NID No. 19968118267000105 Blood Group

নান/হোডিং: , গ্রাম/নাত্রা: কান্দ্রা ঝুলনপাডা দক্ষিন পাডা, কান্দ্রা, ডাকমন: পুঠিশা - ৬২৬°, পুঠিশা, পর্মী, নাজশাহী वर्षभाग ठिकाना

जाक्यत ३ .. स्प्रेस द्वारी..

विश्वर- 00

# **FAMILY PICTURE**

